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“€ Hirschmann Car Communication

Antenna diagram 315 MHz horizontal polarisation Ant_11 [dBi]

Frequenz:f = 314.00 MHz

maximaler Pegel: max =-11.8 dB
Integralwert: int(p) = -15.7 dB
max[dB] dB/div
-11, 8.7 in
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0
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Frequenz:f = 314.50 MHz

maximaler Pegel: max = -11.7 dB
Integralwert: int(p) = -15.6 dB
max[dB] dB/div

-11,7.~7 in
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Frequenz: f = 315.00 MHz
maximalzr Pegel: max = -12.2 dB
Integralwert: int(p) = -15.7 dB

max[dB] /—\\dﬁf div
-12,2.7 1

-180°
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“€ Hirschmann Car Communication

Antenna diagram 315 MHz vertical polarisation Ant_11 [dBi]

Frequenz:f =314,00 MHz

Frequenz:f = 314,50

MHz
= -5,7 dB

maximaler Pegel: max
Tntegralwert: int(p)
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maximaler Pegel: max
Tntegralwert: int(p)

max[dB
-5,7

8,5 dR

Frequenz: f = 315,00 MH=z
= -5,2 dB
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-180°

maximaler Pegel: max
int(p) = -3,1 dR

Tntegralwert:
dB/div
10
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Antenna diagram 433 MHz horizontal polarisation Ant_11 [dBi]

Frequenz:f = 433.50 MHz

maximaler Pegel: max = -5.8 dB
Tntegralweart: int{p) =-10.8 AR

dB/div
-5,8 10

+1801
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-130° \—\
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Frequenz:f = 434.00 MHz

maximaler Pegel: max = -5.5dB
Tntegralwert: int(p) = -10.6 AR
max[dB dB/div
-53,5 . 10

+1809

e ==
-180° L\J

+1809
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Frequenz: f = 434.50 MH=z

maximaler Pegel: max = -5.3 dB
Tntegralwert: int(p) = -10.6 AR
max[dB dB/div
-5,3 10

Stand 29. 07. 2013 Ne



“€ Hirschmann Car Communication

Antenna diagram 433 MHz vertical polarisation Ant_11 [dBi]

Frequenz:f = 433,50 MHz Frequenz:f = 434,00 MHz Frequenz: f = 434,50 MH=z

maximaler Pegel: max = -6,7 dB maximaler Pegel: max = -6,3 dB maximaler Pegel: max = -6,6 dB

Integralwert: int(p) = -11,3 dB Intzgralwert: int(p) = -11,3 dB Integralwert: nt{p) = -11,5 dB
max [dB dB/div

dB/div max[dB /f’_‘\\\dﬁfdiv max[dE
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“€ Hirschmann Car Communication

Antenna diagram 315 MHz horizontal polarisation Ant_12 [dBi]

Frequenz: f = 314.00 MH=z
maximaler Pagal: max = -4.3 dR
Integralwert: int(p) = -10.4 dB

max [dB dB/div
4.3 10
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SN
sl N LS
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Frequenz: f = 314.50 MH=z

maximaler Pagel: max = -4.3 R

Integralwert: int{p) = -10.5 dB

max[dB dB/div
_4I 3 //—\ 1 “
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Frequenz: f = 315.00 MH=z

maximaler Pagel: max = -4.4 dR

Integralwert:

int(p) = -10.5 dB

dB/div
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Antenna diagram 315 MHz

Frequenz: f = 314.00 MH=z
mdximaler Peuel: max = -4.3 JB
Integrawert: int(p) = -10.4 dB

max[dB] dB/div
-4.3 10
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“€ Hirschmann Car Communication

vertical polarisation Ant_12 [dBi]

Frequenz:f = 314.50 MH=z

mdximaler Peuel: max = -4.3 JB
Integralwert:

max[dB]
-4.3 7

int(p) = -10.5 dB

dB/div
10
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oo

-180°

Frequenz: f = 315.00 MH=z

mdximdler Peyel: max = -4.4 JB
Integralwert: int(p) = -10.5 dB
max[dB] dB/div
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“€ Hirschmann Car Communication

Antenna diagram 433 MHz horizontal polarisation Ant_12 [dBi]

Frequenz:f = 433.50 MHz

maximaler Pegel: max = -8.0 dB
Integrawert: int(p) = -12.5 dB
max[dB] dB/div
-8.0 10
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Frequenz:f = 434.00 MHz

maximaler Fegel: max = -8.2 dbB
Integralwert: int(p) = -12.6 dB

max[dB] ~ dB/div

-éii;;rr 10

Frequenz: f = 434.50 MHz

maximaler Fegel: max = -/.4 dB
Integralwert: int(p) = -12.8 dB
dB/div
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“€ Hirschmann Car Communication

Antenna diagram 433 MHz vertical polarisation Ant_12 [dBi]

Frequenz:f = 433.50 MHz Frequenz:f = 434.00 MHz Frequenz: f = 434.50 MHz
maximzler Pegel: max = -8.0 dB maximaler Pegel: max = -8.2 dB maximaler Pegel: max = -7.8 dB
Integra wert: int(p) = -12.5 dB Integralwert: int{p) = -12.6 dB Integralwert: int(p) = -12.8 dB
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